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. Before opening the seal of the Question Booklet check

. Please check the Question Booklet immediately on opening

. Carefully note the Question Booklet No.

. Separate Optical Mark Reader (OMR) Answer Sheet is

. Ifthere is any defect in the Question Paper Booklet or OMR

. Since the answer sheets are to be scanned (valued) with

. The Question Booklet number is printed on right corner of the

whether the Paper Code printed on it is matching with the
Paper Code printed on the Hall Ticket with the respective
session. Ifit is not matching, immediately bring to the notice
of the invigilator and obtain the Question Booklet with
correct Paper Code.

and ensure that it contains all the 150 multiple choice

questions printed on it.

supplied to you. The OMR Answer sheet contains boxes
for filling Hall Ticket Number, Question Booklet Number,
Paper Code, Signature of the Candidate and Invigilator. Fill
the boxes with Blue/Black ball point pen only.

answer sheet, please ask the invigilator for replacement
immediately.

Optical Mark Scanner system, the candidates have to USE
BALL POINT PEN (BLUE/BLACK) ONLY for darkening
the circles in the OMR Sheet including bubbling the answers.
Bubbling with Pencil / Ink Pen /Gel Pen is not permitted in
the examination. If any mistake is done by you on the OMR

sheet, it will not be replaced.

cover page of the Test Booklet. Mark your Question Booklet
number on side 1 of the OMR Answer Sheet by darkening
the appropriate circles with Blue/Black ball point pen.
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purpose in the Question Paper Booklet. No other loose sheet of paper
will be allowed into the Examination Hall except Hall Ticket.

Do not mark answer choices on the Question Booklet. Violation
of this will be viewed seriously.

In case of any discrepancy between English and Telugu Version
of the questions (in Bilingual Paper), English Version of the
question shall be treated as final.

Use of Calculators, Mathematical Tables, Log Books,
Pagers, Cell Phones or any other electronic gadgets is strictly
prohibited.

The candidate should write the Booklet number and Sign in
the space provided in the Nominal Rolls while ensuring the
Bio-data printed against his/ her name is correct.

No candidate should leave the examination hall until completion
of examination time.

Before leaving the examination hall, the candidate should hand
over the OMR Answer Sheet to the Invigilator, failing which
action will be taken for malpractice.

Candidates are permitted to take away the Question Paper with
them after completion of the exam.

The OMR Answer Sheet will be invalidated, if the candidate :

1. writes the Hall Ticket No. in any other place of OMR sheet,
except in the space provided for the purpose.

ii. writes irrelevant matter, including the religious symbols,
words, prayers or any communication whatsoever, in any
place of the OMR answer sheet.

iii. uses other than Blue/ Black ball point pen to darken the
circles.

iv. forgets to bubble the Question Booklet number or bubble
multiple circles in a row while filling the Question Booklet
No. or bubble Hall Ticket No. other than allotted to him/
her.

v. resorts to wrong/erroneous/incomplete bubbling of circles
or using v or X in the circles.
vi. uses whitener on the answer sheet.

vil. attempts any type of tampering (rubbing the circles with

chalk powder/ scratching the circles with razors etc) on
the OMR Answer Sheet.

viii. adopts any method of malpractice.

. No correspondence will be entertained in this matter by the

commission, if the Answer Sheet is invalidated or his / her
candidature is rejected due to the above reasons.

. Thedigital copy of OMR Answer Sheets will be made available in

the Commission’s website after completion of the Image Scanning.
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1. China held military drill around Taiwan in 1. 3388 &: 208 —°6&° 2,58 BEgES 30R0S
August 2022 after the conclusion of the visit BT B Soea S esis 2022 & 20
m#m by one of the following to Taiwan K058 m"{b%gyo N N -

mege (1) Emmanuel Macron, President of (1) gsrirsand S7ES, Sy esdsgsocso

France B s W oo s
(2) Nancy Pelosi, House of Representatives (2) &y ‘Qg D, T &b 8pBEodld) 9SS,
Speaker, US AT,

(3) Antony Blinken, US Secretary of State
(4) Kamala Harris, US Vice President

. Who among the following developed

World’s most durable Hydrogen Fuel Cell

in 2022 ?

(1) Massachusetts Institute of Technology

(2) University of Science and Technology
of China

(3) French National Centre for Scientific
Research

(4) The Hong Kong University of Science
and Technology

. Identify in which one of the following
countries the Indian External Affairs
Minister unveiled a bust of Mahatma Gandhi

in August 2022.
(1) Brazil m5E  (2) Chile
(3) Paraguay [ (4) Kenya

. Who was appointed as the India’s new

Sherpa for the G-20 in July 2022 ?

(1) Errol D’Souza, Director 1IM,
Ahmedabad

(2) Subrahmanyam Jaishankar, Minister of
External Affairs, Govt. of India

(3) Nirmala Sitharaman, Minister of
Finance, Govt. of India

(4) Amitabh Kant, Former CEO of NITI
Aayog

. The National Tribal Research Institute
(NTRI) was inaugurated as a part of the
Azadi Ka Amrit Mahotsav celebrations at

(1) Jodhpur (2) Ranchi
(3) Agartala (4) New Delhi
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6.

Which of'the following were awarded as best
performing banks in different categories at
the Agri Infra Fund Awards, 2022 ?

A. State Bank of India

B. Union Bank of India =i

C. Punjab National Bank

D. Bank of India

Select the correct answer.

(1) A,B,Cand D

(2) A, Cand D Only

(3) Aand D Only

(4) B and C Only

Who among the following won the first
Gold Medal for India at the Commonwealth
Games (CWG) of 2022 ?

(1) Sharat Kamal

(2) P.V. Sindhu

(3) Saikhom Mirabai Chanu

(4) Viay Kumar

In July 2022, ‘Nilekani Centre at Al4Bharat’

is established at IIT Madras. Its aim is to

(1) develop Al powered data banks

(2) develop Al powered cars in India

(3) work on AI applications in health
sector

(4) build open-source language Al for Indian
[=] 5=

languages Sz
As per the Memorandum of Understanding
signed in May 2022, the following institution
agrees to work with Telangana on the research,
curriculum development and students
exchange in the pharmaceutical sciences
(1) Kings College, London
(2) University of Bordeaux, France
(3) Kiel University, Germany
(4) Cornell College, New York

22111
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10.

1.

12.

13.

Consider the following in relation to the
India’s largest floating solar power plant :
A. This is set up by the NTPC.

B. It’s installed capacity is 500 MW.

C. Itwas inaugurated virtually by the Prime
Minister of India.

D. It was inaugurated by Union Minister for
Power, New and Renewable Energy in
August 2022.

Select the correct answer.

(1) A,Band Conly [EL5E

(2) B and D only Ol

(3) Aand C only

(4) Aand D only

Which of the following is considered as the
rival to the US Global Positioning System ?
(1) Gulag Navigation Satellite System
of Russia
(2) Ikagawa Navigation Satellite System
of Japan
(3) BeiDou Navigation Satellite System
of China
(4) Liebe Navigation Satellite System
of German

Which of the following countries have agreed
to re-establish Homeland Security Dialogue ?
(1) India and England

(2) India and US

(3) India and Russia

(4) India and France

What are the objectives of India behind

developing Chabahar Port in Iran ?

A. Providing easy trade access with Arab
countries.

B. Cutting down goods’ transport costs/time
for India.

C. Providing road access to cities in
Afghanistan.

D. Developing access to Central Asian
Markets.

Select the correct answer.
(1) Aand C only

(2) A, Band D only Gl
(3) B, Cand D only

(4) A,B,Cand D

10.

11.

12.

13.
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14.

15.

16.

17.

18.

The ‘Digital Single Market Strategy’ is
associated with

(1) European Union (EU)
(2) ASEAN EI5E
(3) SAARC I‘EI%*
(4) BRICS

Which of the following countries signed
and later withdrawn from the Nuclear
Non-Proliferation Treaty (NPT) ?

(1) USA (2) Iran
(3) North Korea (4) China

The drug “Favipiravir” is used on mild-to-
moderate Covid-19 infected. It is produced by
Glenmark in India with the brand name of

(1) FabiFlu (2) CoviFab
(3) FaviCov (4) Coronil
Consider the following statements about soils :

A. Lime is applied to reclaim acidic soils.

B. Gypsum is applied to reclaim saline

soils. ELiE
E HHH
C. Lime is applied to reclaim saline soils.

D. Gypsum is applied to reclaim acidic
soils.

Select the correct answer.

(1) Cand D only

(2) Aand C only

(3) Aand B only

(4) B and C only

Who developed the first Mercury Thermo
meter ?

(1) Gabriel Daniel Farenheit

(2) Anders Celsius

(3) Galeleo Galilei
(4) Rene de Reaumur

14.

15.

16.

17.

18.
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19.

20.

21.

22.

The World Wide Web was first established at

(1) Bell labs, USA

(2) European Organisation for Nuclear
Research (CERN), Switzerland

(3) Naval Research Laboratory, USA

(4) Rutherford Appleton Lab, UK

When sunlight passes through the atmosphere
of the earth, the rays are scattered by the tiny
particles of dust, pollen, soot and others present

there. However, the sky appears blue in the

mid-day because @%‘g
E HHH

(1) blue light is reflected most
(2) blue light is scattered most
(3) blue light is absorbed most

(4) all reflected rays combine eventually to
form blue light

With regard to ores and metals, consider the

following statements :

A. Silver chloride is called rock salt.

B. The chemical formula of haematite ore is
Fe,0;.

C. All ores are minerals but all minerals need
not be ores.

D. Aluminium metal is usually extracted from

bauxite ore. E%E
Select the correct answer. Iil%"5

(1) Aand D only
(2) Band C only
(3) B, Cand D only
(4) A,B,Cand D
Which Carbon isotope is used in dating ancient
objects ?

(1) Carbon-11
(3) Carbon-14

(2) Carbon-12
(4) Carbon-15

19.

20.

21.

22.
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23.

24.

25.

w

The important role of larynx in human body is
(1) helping to view objects

(2) helping to produce sounds

(3) helping to listen sounds CIkiCY

(4) helping to digest food

The principle involved in the design and
working of hydraulic jacks is

(1) Archimedes’ principle

(2) Bernoulli’s principle

(3) Pascal principle

(4) Torricelli principle

Match the following as on 15t December, 2022 :

Ministry Union Minister

in-charge

Shri Prahlad Joshi

Shri Hardeep Singh
Puri

Atomic Energy 1.

Coal =4 =] 2.

New and 3. Shri Ramachandra
Renewable Prasad Singh
Energy

Petroleum and 4. Shri Rajkumar Singh

Natural Gas
5. Shri Narendra Modi
Choose the correct answer.
(1) A-3;B-2;C-1;D-4
(2) A-5;B-1;C-4;D-2
(3) A-1;B-2;C-3;D-4
(4) A-2;B-1;C-3;D-5
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24.
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26.

© o w >

27.

A.
B.

28.

Consider the following pairs.

Name g IEI Launch Vehicle
Rakesh Sharma — Soyuz-T11
Kalpana Chawla — Columbia
Sunita Williams — Challenger
Sirisha Bandla — Virgin Galactic

Choose the correct answer.
(1) B only

(2) A, Band D only

(3) A, CandD only

(4) A,B,CandD

Match the following :
Dendrochronology 1. Mitochondria
Power house 2. Glyoxysomes
of the cell
Conversion of fats 3. Age of the rock

to carbohydrates

Radio carbon dating 4. Age of the tree
=15 5. Epidermal
Gl development

Select the correct answer.
(1) A-4;B-1;C-2;D-3
(2) A-5;B-1;C-2;D-3
3) A-4;B-2;C-1;D-3
(4) A-3;B-2;C-1;D-4

Which one of the following phytohormones is
responsible for ripening of fruits ?

(1) Auxins

(2) Gibberellins
(3) Cytokinins
(4) Ethylene
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29. Match the following :
A. Tuberous root 1. Avicennia
B. Respiratory root 2. Potato
C. Stemtuber Fem 3. Ginger
D. Rhizome @®™ 4. Carrot
5. Corm

30.

32.

Select the correct answer.
(1) A-5;B-1;C-2;D-4
(2) A-4;B-1;C-2;D-3
(3) A-5;B-3;C-2;D-4
(4) A-1;B-2;C-3;D-4

The DRDO has successfully conducted the
second flight test of the New Generation
Akash (Akash-NG) Missile in July 2021.
The Akash-NG Missile is a

(1) Sea to surface missile

(2) Sea to air missile

(3) Surface to air missile

(4) Surface to surface missile

. Which of the following legislations in India

led to the establishment of State Pollution
Control Boards (SPCBs) ?

(1) Disaster Management Act, 2005
(2) Environmental (Protection) Act, 1986

(3) Water (Prevention and Control of
Pollution) Act, 1974

(4) Air (Prevention and Control of Pollution)
Act, 1981

Which of the following states accounts for
largest mangroves in India in 2021 ?

(1) Karnataka
(2) West Bengal
(3) Odisha

(4) Gujarat
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30.
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32.

A.

B
C.
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33.

34.

35.

36.

Which of the following types of natural
disaster account for the most between 2000
to 2019 in the world ?

(1) Storms
(2) Landslides i
(3) Earthquakes

(4) Floods

The ‘Sendai Framework’ is related to
(1) Climate change

(2) Carbon emissions

(3) Disaster risk reduction

(4) Human security

In terms of per capita CO, emissions data
of 2020, which of the following countries
occupy first two positions in the world ?

A. United States
B. Australia

C. China

D. Saudi Arabia

Select the correct answer.
(1) A and C respectively
(2) Band Crespectively mum
i

(3) C and A respectively
(4) D and B respectively

According to the World Air Quality Report,
2021, which of the following cities of India
rank as first to fourth most polluted cities
respectively ?

A. Bhiwadi
B. Delhi

C. Jaunpur
D. Ghaziabad

Select the correct answer.
(1) A,D,B,C
(3) B,D,A,C

(2) A,B,D, C
(4) B,A,C,D
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37. Which of the following has become the first

Green SEZ of India ?

(1) Kandla SEZ  m#m
(2) Falta SEZ 3
(3) Chennai SEZ

(4) Visakhapatnam SEZ

38. Under the scheme of Pradhan Mantri Mudra
Yojana (PMMY), Micro Units Development
and Refinance Agency Limited (MUDRA)
created products. Which one of the following

is NOT one of them ?
(1) Uday
(3) Shishu

(2) Tarun
(4) Kishore

39. Which one of the following is the nodal

implementation agency of the Pradhan Mantri

Grameen Sadak Yojana (PMGSY) ?

(1) National Institute of Rural
Development (NIRD)

(2) National Rural Infrastructure
Development Agency (NRIDA)

(3) National Trust

(4) NITI Aayog

40. Match the following agriculture and allied

sectors’ produce with their respective

revolutions in India.
Agriculture and Allied

Sectors’ Products

Revolutions

A. Rice and wheat 1. Blue revolution
B. Oil seeds 2. Green revolution
C. Aquaculture 3. Golden revolution

and fisheries
4. Yellow revolution
Choose the correct answer.
(1) A-2;B-4;C-1
(2) A-3;B-4;C-2
(3) A-2;B-3;C-1
(4) A4;B-3;C-1
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41.

42.

43.

44.

45.

Which of the following is NOT the Scheme/
Programme introduced by the Government
of India for the promotion of MSMEs ?

(1) Credit Linked Capital Subsidy (CLCS)
Scheme

(2) Prime Minister’s Employment
Generation Programme (PMEGP)

(3) A Scheme for Promotion of Innovation,
Rural Industries and Entrepreneurship
(ASPIRE)

(4) Bharat Nirman Programme (BNP)

Education is typically cited as an example
of one of the following goods

(1) Private goods
(2) Mixed goods
(3) Merit goods
(4) Common goods

Which one of the following is NOT required
for the economic development ?

(1) Research and development g%%
(2) Over-population B
(3) Latest technology and skills

(4) Capital formation

Non-development expenditure of the
Government of India involves one of the
following :

(1) Education and health
(2) Industry

(3) Interest payments
(4) Irrigation

The Horticulture University which was
established in Telangana in 2014 was named
after

(1) Kaloji Narayana Rao
(2) Konda Laxman Bapuji
(3) P.V. Narasimha Rao
(4) C.H. Hanumantha Rao
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46.

47.

48.

49.

Arrange in chronological order of the
following ‘ease of doing business’ ranks
of Telangana state in 2015, 2016, 2017 and
2019 respectively.

A. First rank TR
B. Second rank -
C. Third rank

D. Thirteenth rank

Choose the correct order.
(1) C,B,A,D
2) D,C,A,B
3) C,A,D,B
(4) D,A,B,C

In which district of Telangana, third highest
number of electrical connections were
provided as of 2020-21 ?

(1) Rangareddy

(2) Nizamabad

(3) Nalgonda

(4) Medchal-Malkajgiri

As per the 2011 census, which of the
following states recorded highest and lowest
sex-ratios of population ?

(1) Tamil Nadu and Chhattisgarh g%%
respectively T

(2) Kerala and Uttar Pradesh respectively

(3) Kerala and Bihar respectively

(4) Kerala and Haryana respectively

Which one of the following Himalayan peaks
does NOT fall under India ?

(1) Kanchenjunga
(2) Annapurna
(3) Nanda Devi
(4) Namcha Barwa
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50.

51.

52.

53.

The northern plains of India have been
formed by the interplay of the following
three major river systems.

(1) Indus, Chenab and Beas

(2) Sutlej, Narmada and Mahanadi
(3) Jhelum, Ganga and Mahanadi
(4) Indus, Ganga and Brahmaputra

Consider the following in relation to the
Deccan Plateau. ELSE

A. E HHH
B.

It is rectangular in land mass.
It lies to the south of the river
Narmada.

C. The Satpura range flanks its broad base

in the north of this plateau.

Select the correct answer.
(1) A and B only

(2) A and C only

(3) B and C only

(4) A,Band C

Which of the following districts constitute
the northern boundary of Nizamabad district
of Telangana ?

(1) Kamareddy

(2) Rajanna Sircilla

(3) Nirmal
(4) Jagtial

Which of the following districts of Telangana
has the lowest literacy rate as per the 2011
census ?

(1) Jogulamba Gadwal
(2) Narayanpet

(3) Mulugu

(4) Adilabad
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54.

55.

56.

Match the following nuclear power plants
with their States.

Plant g @ State

A. Tarapur Atomic 1. Uttar Pradesh
Power Station

B. Kaiga Atomic 2. Gujarat
Power Station

C. Narora Atomic 3. Mabharashtra
Power Station

D. Kakrapar Atomic 4. Rajasthan

Power Station
5. Karnataka

Select the correct answer.

(1) A-2;B-4;C-1;D-5 !.‘5%%
(2) A-3;B-5;C-1;D-2
(3) A-4;B-1;C-5;D-2
(4) A-5;B-3;C-2;D-4

Which one of the following rivers is also
known by the name of Dihang in Arunachal
Pradesh ?

(1) Lohit

(2) Brahmaputra
(3) Subansiri
(4) Teesta

Arrange the following cities in descending
order based on their population as per the
2011 census.

A. Hyderabad

B. Bengaluru

C. Chennai

D. Delhi

Choose the correct answer.
(1) D,C,B,A

(3) A,D,B,C

(2) D,A,C, B
(4) D, B, A, C
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57.

58.

59.

60.

Which of the following types of the soil
account for the most in Telangana ?

(1) Red soil Q%%
E HHH

(2) Black soil
(3) Alluvial
(4) Rocks and boulders

The minimum age prescribed to become
member of Rajya Sabha as per the Article 84
of the Constitution of India

(1) Not less than 25 years
(2) Not less than 28 years
(3) Not less than 30 years
(4) Not less than 35 years

A Judicial Writ issued as a command to an
inferior court or ordering a person to perform

a public or statutory duty is known as
(1) An order of Habeas Corpus

(2) An order of Mandamus

(3) An order of Certiorari

(4) An order of Quo Warranto s

Which Article of the Constitution provides
for free and compulsory education for all
children until they complete the age of

fourteen years ?
(1) Article 42
(2) Article 43
(3) Article 44
(4) Article 45
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61.

62.

B

=

63.

64.

The basic feature of secularism as envisaged
in the Preamble to the Constitution means :

A. The State may declare and have its own
religion. E5E

B. The State will not have its own '@%Q
religion.

C. All religions are entitled to freedom of
conscience and right to profess, practice
and propagate religion of their choice.

Choose the correct answer.

(1) Aand B only

(2) B and C only

(3) Aand C only

(4) A,Band C

Which one of the following is NOT included
as Fundamental Duty ?

(1) To abide by the Constitution and respect
for its ideals and institutions

unity and integrity of India
(3) To ensure rule of law in the country

(4) To safeguard public property and to
abjure violence

Which one of the following was the first state
in India to be imposed the President’s rule ?
(1) Andhra Pradesh (2) Kerala

(3) Punjab (4) Haryana

A Bill for the amendment of the Constitution
can be introduced first in

(1) Lok Sabha

(2) Rajya Sabha

(3) Either House of Parliament
(4) Any State Assembly
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Which one of the following amendments to

the Constitution has taken out the ‘Right to

Property’ from the list of Fundamental Rights

and has been declared as a Legal Right ?

(1) The Constitution (Twenty-Fourth)
Amendment Act, 1971

(2) The Constitution (Twenty-Ninth)
Amendment Act, 1972

(3) The Constitution (Forty-Second)
Amendment Act, 1976

(4) The Constitution (Forty-Fourth)
Amendment Act, 1978

Which one of the following statements is
NOT correct in relation to the Directive
Principles of State Policy ?

(1) Directive Principles are the instruments
of instructions

(2) Directive Principles constitute philosophy
of social justice

(3) Directive Principles are legally
enforceable

(4) Directive Principles place an ideal before
the legislators of India

. Which one of the following is NOT an item

of Union List ?
(1) Railways

(2) Banking

(3) Forests

(4) Oil resources

In which general elections, Braille voter slips
are introduced by the Election Commission
of India ?

(1) 2004 General Elections
(2) 2009 General Elections
(3) 2014 General Elections
(4) 2019 General Elections
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According to the Right to Information Act
2005, every public authority should publish
the following :

A. The particulars of its organisation,
functions and duties.

B. The powers and duties of its officers and
employees.

C. The norms set by it for the discharge of
its functions.

D. Adirectory of'its officers and employees
along with the monthly remuneration
received by each.

Select the correct answer.
(1) Aand B only S
(2) B and C only ki
(3) Aand C only

(4) A,B,CandD

Which one of the following was a member of
Rajya Sabha when he/she became the Prime
Minister of India for the first time ?

(1) Jawaharlal Nehru
(2) Indira Gandhi

(3) Atal Bihari Vajpayee
(4) Narendra Modi

The Constitution of India envisages a system
of panchayats that includes :

A. The village level panchayat.
B. The district panchayat.

C. The intermediate panchayat between
village and district levels.

Choose the correct answer.
(1) Aand B only
(2) B and C only

(4) A,BandC @%
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In case of dissolution of a panchayat before
its term, elections should be conducted
within :

(1) Six months of its dissolution 3
(2) Three months of its dissolution
(3) Nine months of its dissolution

(4) One year of its dissolution

Which of the following was the gold coin
during the Satavahana period ?

(1) Mada

(2) Gadhya

(3) Suvarna

(4) Karshapana

In which of the following sites human figures
with weapons art are found ?

(1) Kollapur

(2) Peddamarur

(3) Pandavulagutta

(4) Orugallu

Who is the author of “Glimpses into Telugu
Folklore™ ?

(1) Jayadheer Thirumala Rao
(2) Biruduraju Rama Raju
(3) Kurella Vithalacharya
(4) Jitendra Babu

Which of'the following communities narrates
Gondipuranam for Gonds ?

(1) Koya
(3) Nayakpod

(2) Kolam
(4) Pardhan

Which one of the following was the first
English Medium School to be established
in Hyderabad ?

(1) All Saints High School

(2) Gloria High School

(3) Noble School

(4) St. George’s Grammar School
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Rakshasagullu are associated with which of
the following historical phase in Telangana ?
(1) Megalithic I_‘EI%E

(2) Neolithic [l

(3) Mesolithic

(4) Paleolithic

How were the hunters and food gatherers
called in Medieval Telangana ?

(1) Halikulu

(2) Kounddalikulu
(3) Asamkhyatulu
(4) Girijanulu

What was the profession/occupation of
“Thilapasika” during the Satavahana
period ?

(1) Weaving

(2) Carpentry

(3) Oil extractors

E5E
(4) Clay extractors @%&

“Neethisaram” a work in Sanskrit was
authored by

(1) Jayapa Senani

(2) Rudradeva

(3) Vidyanatha

(4) Palkuriki Somanatha

Indra Seva Sadan for the poor and destitute
women and children was founded by

(1) Gyankumari Heda

(2) Yellapragada Sitakumari

(3) Sunitha Devi

(4) Sangem Lakshmibai

Filigree work is made in
(1) Silver
(3) Copper

(2) Gold
(4) Tin
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84. Match the following :
School/College

A. Medical School

B. Dar ul-Uloom
Oriental College

Place in Hyderabad
1. Chaderghat
2. Aurangabad

C. Anglo-Vernacular
School
D. Industrial School

3. Gunfoundry

4. Salarjung Palace

!-‘E',%'?{
Choose the correct answer. [a]#é
(1) A-4; B-1; C-2; D-3
(2) A-1; B-2; C-3; D4
(3) A-2; B-3; C-4; D-1
(4) A-3; B-4; C-1; D-2

85. Match the following :

A. Rajaraja Narendra 1. Nalgonda
Andhra Basha Nilayam
B. Andhra Samvardini 2. Hanmakonda
Grandhalayam
C. Nilagiri Patrika 3. Inugurthi,
Warangal
District
D. Tenugu Patrika 4. Secunderabad

Choose the correct answer.
(1) A-4; B-2; C-3; D-1
(2) A-1; B-3; C-2; D4
(3) A-2; B-4; C-1; D-3
(4) A-3;B-1;C-4;D-2 e

86. The Biggest Buddhist Stupa in South India

is located at

(1) Dhulikatta

(2) Phanigiri

(3) Kondapur

(4) Nelakondapalli
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88.

Which of the following statements are

correct ?

A. Tambura is the musical instrument of
Bhavaaneeyulu/Baindlavaru.

B. The Historic Fort Tower/Bastion called
“Chaudaripalli” is located in Gajwel.

C. Medak district in Telangana is known as
“District of Samsthanams”.

D. Poornakalasham is engraved on the Hill
Fort of Devarakonda.

Choose the correct answer.
(1) Aand C only E @
(2) B and D only
(3) Aand D only
(4) B and C only

Under the TS-iPASS from 2015 to January

2022, which of the following districts ranked

bottom three in getting number of approvals

to set up industries ?

(1) Hyderabad, Narayanpet and Mulugu

(2) Bhadradri Kothagudem, Mulugu and
Mahbubnagar

(3) Mulugu, Kumuram Bheem and
Jayashankar Bhupalapally

(4) Bhadradri Kothagudem, Yadadri
Bhuvanagiri and Jogulamba Gadwal

. Which of'the following is targeted specifically

towards making the industrial sector more
equitable by increasing the representation
of entrepreneurs from the SCs, STs, and
Specially-Abled Persons (SAP) ?

(1) T-IDEA
(2) TSIDC
(3) T-PRIDE
(4) TSIIC
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90. Which of the following is an input subsidy | 90. s 88 T3E° 3555 éé’%& D05 e85 H05%S
linked wage compensation scheme ? 5650 D8 ?
m#m (1) Nethannaku Cheyutha (1) 3855 Dahre
Bt (2) Pavala Vaddi Scheme (2) Jssee ;5% 3¢50
(3) T-Maggam Scheme (3) T-3oro ¢%0
(4) Chenetha Mitra (4) 338
91. Which of the following pairs is correct ? 91. $od 2508’ DO RSO 38T ?
(1) Lord Cornwallis : Permanent Settlement (1) b6 DS By Ao
(2) Lord Dalhousie : Subsidiary Alliance (2) @’é &R DR S 568
(3) Lord William . Partition of (3) @o§ DOAH0 Foe3E : Horrd Degesss
Bentick Bengal 4) o555 L 0B SIS ATy
(4) Lord Curzon : Abolition of Sati 55 3o
92. Who among the following was NOT | 92. 808 738" 1857 S0rerens Howodio 8
associated with the 1857 Revolt ? D A3 ? o
(1) Ahamadulla Shah (1) s o
(2) Bairam Singh (2) Borao 2oh
(3) Kunwar Singh (3) 25600 mam
(4) Bhakt Khan 4) eSS E
93. Which one of the following colleges founded |  93. 1875 & 2ai56 eiyb S T TDoeds
by Sayyid Ahmad Khan in 1875, was later 55500, SE000 99506 350000 AT
called as Aligarh Muslim University ? 013523308 ?
(1) Madarsa-e-Tareek (1) 5650y -3 - =88
(2) The Aligarh College
. (2) 9&& Sewro
(3) The Mohammadan Anglo-Oriental
i College (3) o35S el £.8aboed e
Zes (4) Jamia Islamia College (4) &P JrAALT 55°7°0
94. Identify the British Viceroy who appointed 94. “:@E 6655 500075 000N BS0d5
a commission to investigate the problems of $OBOST 28 FARSS DaTooodsS BedN
“Public Service Commission”. Jeradosdd Moot
(1) Lord Rippon (1) o608y
(2) Lord Linlithgo (2) &8 ISVER
(3) Lord Irwin (3) @t’é ”0255‘5 HE
(4) Lord Dufferin 4) @°§ Ve _EI o
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97.

O N w »9

The proclamation of “Poorna Swaraj” was
made at which of the following sessions of
the Indian National Congress ?

(1) Bombay  [ES[E (2) Madras

(3) Lahore [ (4) Dhaka

The Jallianwala Bagh meeting was convened

on 13™ April, 1919 to protest against which

of the following ?

(1) Proclamation of Rowlatt Act

(2) Arrest of popular leaders, Dr. Saifuddin
Kitchlew and Dr. Satyapal

(3) Hanging of Bhagat Singh, Raj Guru and
Sukh Dev

(4) Arrest of Mahatma Gandhi

“Kudi Arasu” was a popular Journal in Tamil
Nadu. Who was the Editor of this journal ?

(1) E.V. Narayana Swami

(2) Govinda Pillai

(3) E.V.S. Niranjan

(4) E.V. Ramaswami Nayakar

. Who among the following was associated

with the Chittagong Armoury Raid ?
(1) Subhas Chandra Bose

(2) Sachin Sanyal

(3) Khudiram Bose

(4) Surya Sen

Match the following :

Michael O’ Dyer 1. Gadar Party
Founder

Dr.B.R. Ambedkar 2. Muslim League
Founder

Lala Hardayal 3. Jallianwala
Bagh Massacre

Nawab Salimulla 4. All India
Depressed
Classes
Association

Choose the correct answer.
(1) A-1; B-2; C-3; D4
(2) A-2; B-3; C-4; D-1
(3) A-3; B-4; C-1; D-2
(4) A-4; B-1;C-2; D-3
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100. Which of the following statement/s is/are
correct ?

m+#E A. Raja Rammohan Roy founded Brahma

"%:E Sama.

B. Jyotiba Phule established Manav Dharma
Sabha.

C. Swami Vivekananda founded Atmeeya
Sabha.

D. Kandukuri Vireshalingam established
Widow Remarriage Association.

Choose the correct answer.

(1) Aonly
(2) A and B only
(3) Conly
(4) A and D only

101. The decline of which one of the following
dynasties provided an opportunity for the
Satavahanas to establish independent power
in the Deccan ?

(1) Nandas (2) Mauryas
ohio
(3) Guptas [a (4) Cholas

102. Who among the following was NOT
a Vishnukundi King ?

(1) Indravarma

(2) Govindavarma
(3) Ravivarma-I

(4) Madhavavarma-II

103. Satavahana kings honoured their feudatories
with the following titles :

A. Samarathi

B. Mabharathi

C. Mahabhoja

D. Pranthadhipathi
Select the correct answer.
(1) Aand B only

(2) B and C only

(3) Aand D only

(4) Cand D only
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C. T2 IIS0es esdy0h HER0 0T,

D. 50550 A88oro Do IO
B0y ﬁgiaow"c?o.

NSRS Do 0s.

(1) A S

(2) A 500050 B S

(3) C 5 H4E
(4) A 5000500 D 5753 @%ﬂ%

0B D TeIsod BEBBO TETTROD $SE”
SrBo RS B ey Syodod ?

(1) Socoen (2) 3376500
(3) modeo (4) oo

52 300 TS AP0 Toer TR T A ?
(1) 3oE55,

(2) oS,

(3) ooesed 8IS,

(4) ot S3esss,

FETTR000 70 R0 B2 ($0d
D0 $EDOTD.

A. 35760

B. 505866

C. 50555 es

D. @rozr{3d

R0 2520 o5, ERIE
(1) ASoBo%o B s HEs
(2) B 080580 C S

(3) A 508050 D 550

(4) C 300050 D 557E



104. Which one of the following Committees/
Commissions in its report stated the following
words - “nirbal se ladai balwan ki - yeh

kahani hai diye ki aur tufan ki” ?
[EES (1) Srikrishna Committee

(2) Girglani Commission

(3) Pranab Mukherjee Committee

(4) Anthony Committee

105. Consider the following in relation to the
Justice B.N. Srikrishna Committee Report :

A. The Committee was set up in February
2012.

B. The Committee received oral and written
representations from 102 political and
civil society groups.

C. The Committee produced main report
of 505 pages and an appendix volume
of 183 pages.

D. The Committee comprised of six other
members besides its Chairman.

Select the correct answer.
(1) A, B and C only

(2) B and D only CwiC)
(3) Aand Conly &
(4) B and C only

106. Who among the following presided over
the two meetings that were held on separate
Telangana at Reddy Hostel in March 1969 ?
(1) Marri Chenna Reddy
(2) Major Ranga Swamy
(3) T.N. Sadalakshmi
(4) J. Eswari Bai
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“GS 2 000 20 § HESD By B &esHd
B T BT 85 VINEE” HE7R) Sozvo
A8 ?

(1) B30

(2) AbTR B0%S

(3) eses S09pd Eoed

(4) es0&D el

220 B.N. 3553 5060 3050 Soeodod &

8o 73 563000l

A. 5 520630 D38 2012 &° Domyens T,

B. & 52063 102 oresdon, 6 Sopre o
0D, STP eEKEIos 80N,

C. & 563 505 Do Bed D085 183
DI 93008 Xaoo“g)“wﬁ)& Q:08y008.

D. & 50638° o0 DRSS e 3B esBorrhd
580500 &TYE0. %%%

TS 23030 O8R5, h

(1) A, B S0005%0 C S

(2) B 08050 D 55780

(3) A 080580 C S

(4) B 308050 C Sovgsad

578y 1969 & B 5EE” e0RS Botkd (TS
BOOTTE? BETRTOH WS 50000 560 ?
(1) 500 T, 38

(2) oesb Sorf g

(4) 8. oeberon @

(3) 335, sred, I‘E'%E
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107.

108.

109.

110.

Which one of the following parties/trade
unions and their leaders at the time of
1969 Telangana Movement NOT matched
correctly ?

(1) Swatantra Party: Sangem Lakshmibai
(2) Republican Party: J. Eswari Bai

(3) Praja Socialist Party: M. Ramachandra
Rao

(4) Hind Majdoor Sabha: B.S. Mahadev
Singh

Which one of the following educational
institutions is NOT a part of the Tenth
Schedule of the Andhra Pradesh State
Reorganisation Act, 2014 ?

(1) Dr. B.R. Ambedkar Open University,
Hyderabad

(2) University of Hyderabad
(3) Dairatul Maarif, OU, Hyderabad
(4) Telugu University, Hyderabad

Who among the following was honoured
during the Nizam period with the title of
‘Star of India’ by the British ?

(1) Afzal-ud-Daula
(2) Nasir-ud-Daula
(3) Chandulal

E9m
(4) Salar Jung - I @%ﬁ:

What is the name of a company that indulged
in scandalous money-lending business
during Nizam period ?

(1) Ramji, Kishenji & Brothers

(2) Grover & Company

(3) Palmer & Company

(4) Musaddilal & Company
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I11.

Following Table presents the demand
and production of mobile phones of five
companies A, B, C, D and E. The production
of company B is approximately what percent

I11.

22111

ot 30y ¥e38E° A, B, C, D, E &3 5650
oo 30FS PSo GIF0G, eByByen
3300, B 5020 B0k, 8D B 502

of the demand of B ? Eli o, GTOEED ST JoB T°B0 &od ?
E HHH
Company/50%d A B C D E
Demand/&srel 16,000 | 26,000 | 24,000 | 48,000 | 42,000
Production/&so 10,000 | 22,000 | 36,000 | 40,000 | 64,000
(1) 75 (2) 87 (1) 75 (2) 87
(3) 80 (4) 85 (3) 80 (4) 85

112.

Following Table presents the demand
and production of mobile phones of five
companies A, B, C, D and E. What is the
difference between the average production
and average demand of mobile phones of all

112.

Bos gDys Be35ed A, B, C, D, E &3 o>
Fouo 30FS Pdo GITo, &8yBoeo
RGO, ey oL HEw BB, B
G5ro&d Sty B do ? %%

113.

Following Table presents the demand and
production of mobile phones of five companies
A, B, C, D and E. Difference between the
production and demand of mobile phones
produced by company C is equal to the sum of
the differences between demand and production
of which of the following two companies ?

113.

the companies ? [
Company/5c20 A B C D E
Demand/&sFel 16,000 26,000 24,000 48,000 42,000
Production/c:$,® 10,000 22,000 36,000 40,000 64,000

(1) 3,400 i (2) 3,100 (1) 3,400 (2) 3,100

(3) 3,300 i (4) 3,200 (3) 3,300 (4) 3,200

Bots 3dys Bedses” A, B, C, D, E. &3 0
oo 3086 PSo EITos, eFyBoen
335e0c00. C E02) G0, 3oBERY &5B8,
G0l o6 €y 83650, &8 (oS FNS ) Bock
5020 G0, &i%e $9¢y Foro 0TS
23350 ?

Company/3c20 A B C D E
Demand/&srel 16,000 26,000 24,000 48,000 42,000
Production/&:\3 10,000 22,000 36,000 40,000 64,000
(1) A,B (2) B,D () AB  msm (2) B,D
(3) AE (4) B,E (3) A,E @%% 4) B,E
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114. The following Pie chart shows the distribution
of 15,000 students of various degree courses in
percentages. What is the difference between the
number of students studying Engineering and
number of students studying Commerce ?

Science Arts [=]45[=]

10% 12% SRl

|1 i
Commerce
Engi;:/eering
Management
27%
Division of Students
(1) 1,250 (2) 1,125
(3) 2,250 4) 1,750

115. The following Pie chart shows the distribution of
15,000 students across various degree courses in
percentages. If the fee paid by one Arts student
is Rs. 3,560, what will be the total fee paid by
all the Arts students ? ( in Rupees)

Science Arts
10% 12%

Commerce
18%

Engi;:/eering
Management
E5E 27% |
-E o Division of Students
(1) 65,40,000 (2) 64,28,000
(3) 68,04,000 (4) 64,08,000

116. Inacodelanguage,ifTiscodedas D,NasK,
RasQ,VasR,IasB,UasS,EasT,SasNand
Y as W, then the code of UNIVERSITY will be

(1) SKBTRQBBDW
(2) SBRKYBQNDW
(3) SBKRTQBNDW
(4) SKBRTQNBDW
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8ot geacks 2" TEE G A Teind’ &y
15,000 55060 Dezgthe ekesss, oG, gi5econ.
R022000R 5tHBT) TR HoPg, S0y
BB g0 BoPgsd gy B o ?

=4
S«Q{: Bé\d
10% 12%

506y
30eR00h
wERoed
wcs"ﬁ&@wie:ﬁaé
(1) 1,250 ) 1,125
(3) 2,250 4) 1,750

8ot gedss 2" TEE DG G SN, &y
15,000 5500 Dezgthe ikesss, oG gi5edod.
25 b ol & 3,560 ez 30008,
oo wfy Jorstyes KD o e QL

(CrRrang) ? B
[=]¢%s
¥ )
by
18%
g0eR8ch
SRl
bmgﬁgﬁbzﬁab
(1) 65,40,000 (2) 64,28,000
(3) 68,04,000 (4) 64,08,000

e 58E R TAD P, NIKmw, RJQ v,
VIR IOBm, UDS™ EJTm, S
N, YOWrSE 3%, UNIVERSITY cooy,

§°E Dsosiood 9 EHE
(1) SKBTRQBBDW ‘%a;
(2) SBRKYBQNDW
(3) SBKRTQBNDW

(4) SKBRTQNBDW



117.

118.

119.

120.

121.

P is son of Q, while Q and R are two sisters
to one another. T is the mother of R. If

S is the son of T, which one of the following
statements is correct ? TR

(1) R is the grandfather of P

(2) T is the sister of P

(3) S is the maternal uncle of P

(4) Qs the sister of T

In a certain code language, 48765912 is
written as 29678626. How is 96543854
written in that code ?

(1) 76756658
(2) 77465568
(3) 77456568
(4) 76576558

Identify the term which fills the blank of the
following sequence.

BZA, DYC, FXE, , VI
() HWG o (2) HUG
(3) UHG e (4) WHG

A cube painted red on all faces is cut into 27
small cubes of equal sizes. How many cubes
are not painted on any face ?
(D1
(3) 6

(2) 4
(4) 8

The word “EXHIBITION” is reversed. In
the reversed word, second and fifth letters

are interchanged, what is the fifth letter from
the left ?

(1) O
3) T

2) 1
(4) H

33

117.

118.

119.

120.

121.

22111

P, Q 5 §7¢0o% @@, Q 308asw R eo
2508°5 AFesdivenen epEd. T, R H &9
©:95008. S, T § 6% eand, $od 38" 9
(55055 25855500 ?

(1) R, P Gy &8

(2) T, P Gy, Pesb:soed

(3) S, P GEao%, oo

(4) Q, T Gy, Fesbisoed

e 5 S°E grS° 48765912 2 29678626 v o7y,
@0 §& g8 96543854 D dor oo ?

(1) 76756658
(2) 77465568
(3) 77456568
(4) 76576558

Bod @e3E” grdR 77005 Dy rogoised.

BZA, DYC, FXE, ,IVI
(1) HWG (2) HUG
(3) UHG (4) WHG

28 507708 ey IV D Bold I,
27 DIFER0S DR8y Fovreore $BOR, & S0z
Sor> TS0 QZ’Q‘Q 2OTPL0 €0ePa ?

(D1 (2) 4
(3) 6 (4) 8

“EXHIBITION” &5 300y HSHTa-th (856,
BIE0). €8 DERCNS He50S° TS, 0SS
SO0 L ST 505753 D650 570, D
D 00 w53 5;550@58 D 5850 0208 ?

(1) O ) 1
3T i (4) H

P.T.O.
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122.

123.

124.

126.

Find out the next number in the following
series.

4,11, 30, 67,128, ?

M 219 g 0

(3) 165 mMm#

(2) 218
(4) 188

What is the value of ‘A’ in the following
equation ?

40% of 2080 + 30% of 3270 — 10% of
1900 = A % of 1600 + 23
(1) 95

(3) 85

(2) 100
(4) 90

After walking a distance of 50 m to the
south of her house, Lilly turns left and walks
another 20 m. Then she turns north and walks
30 m and then starts walking to her house.
In which direction is she walking now ?
(1) North-East

(2) North-West

(3) South-West

(4) South-East

. A,P,R, X, Sand Z are sitting in arow. S and

Z are in the centre. A and P are at the ends.
R is sitting to the immediate left of A. Who
is to the immediate right of P ?

(1 A 2) X

3) S 4 Z

The ratio of the current ages of Mallesh and
Yadagiri is 2:3 and sum of their ages is

60 years. What will be the ratio of their ages
after 6 years ?

(1) 2:3
(3) 7:6

(2) 5:7
4) 5:6
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B0 BeAE” B 5y Sowg OB 2
4,11, 30, 67,128, ?
(1) 219
(3) 165

(2) 218
(4) 188

8o $5085e208° <A’ Deoss ogs ?

2080 & 40% + 3270 &° 30% — 1900 &°
10% = 1600 & A % + 23

(1) 95
3) 85

(2) 100
(4) 90

@@ B goed oo 50 i)oéocfo G800 3D
aﬁ&aog 3 AEBo I8 26h 20 fboeacio
s&aoa SEITH S5 ¢ &850 DD SR

30 QoL SRS BEOTEH B3 F0E3 DD ST
08, 930 (33080 D OFS® 30308 ?

(1) North-East (ssz=550)  ELIE
(2) North-West (zrciosso) -
(3) South-West (359)

(4) South-East (esiao)

AP R, X, S, Z oo e 56508 578y, S,
Z &0 35335 & & 0. A, P oo D58 ey,
R,AS 50@3 e3> (5 EET. PR

0L B IDS ASEOTHE ?
(1) A @) X
(3) S 4) Z

$082, AITEABY ({8 Sabdne G 2:3
5080 T8 SALRN Zoodo 60 HosHTe.
6 SO T'® BT 70 530 ARB o ?
(1) 2:3 (2) 5:7

E5E
(3) 7:6 = 4)5:6



127.

128.

129.

130.

All the digits in each of the following
numbers are arranged in ascending order
and formed new numbers. The largest
number among the newly formed numbers
is resulting from which old number ?

42968, 45229, 78929, 82969, 91219, 98762

(1) 82969 & (2) 42968
(3) 78929 @%‘i

i (4) 98762

What is the 251 term in the following series ?
201, 208, 215, 222,

(1) 364 (2) 386
(3) 369 (4) 289

Rajnish is older than Rajesh and Raman.
Ramesh is older than Rajesh but younger than
Rajnish. Raman is older than Rajesh. Who
among them is oldest ?

(1) Raman (2) Rajesh
(3) Ramesh (4) Rajnish

Read the following two statements carefully
and select the right conclusion(s), which

follow(s) the statements.

Statements : ok
Some hills are rivers. [@)#é

Some rivers are deserts.

Conclusions :
I. Some rivers are hills.
II. Some deserts are hills.
(1) Only conclusion I follows
(2) Only conclusion II follows
(3) Both conclusions I and II follow

(4) Neither conclusion I nor II follow
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127, Gots5dys ey Sopse R ey e9csod e Ser
5008 @9500) T8 Sogomh Sats T,
€3 BOITD BS SopgS” HORHoPs O % o
5008 SArERohedod ?
42968, 45229, 78929, 82969, 91219, 98762
(1) 82969 (2) 42968
(3) 78929 (4) 98762

128. od @3S 25 5 5¢0 DO 9
201,208,215,222,
(1) 364 (2) 386
(3) 369 (4) 289

129. Sesn e 53 TER, T30 © KT 200, G,
OB, 5083 2 TR, Caii, 5083 DT,
T30, TERE0E) DT, e0tBE” 6B DT
D555 ? @%%
(1) o508 (2) &
(3) &3 (4) Gedf,
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L. §7) S Foken.
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2) QTG 11 9230000508 '@%{a
(3) Botr Azdeaes 1, 11 oo exioddron
(4) Socér chémeb L IT @0 e9:50:58035:

P.T.O.
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131. Which of the following sentences is 134. Which of the following sentences are
grammatically correct ? grammatically right ?
(1) They usually focus on ancient culture, (A) Nithish greeted all his friends, after
!_‘El%% isn’tit ? meeting them.
Dl (2) We don’t bother about the consequences (B) Nithish greeted all his friends after
of our decision, don’t we ? meeting them.
(3) The culprits admitted their mistakes, (C) One who leads the team have to be
weren’t they ? responsible for all the unforeseen
(4) They studied traditionally deep-rooted situations.
culture through scriptures, didn’t (D) Those who are careless about neatness are
they ? likely to be affected by viral diseases.
132. Which of the following sentences are (1) Band D
grammatically correct ? (2) AandD 5
(A) Rural people are free from pollution (3) Band C e
unlike urban people. (4) Aand C

(B) The habits of rural Indians are different
from those of urban Indians.

(C) The habits of rural Indians are different
from urban Indians.

135. Consider the following :

(A) Some farmers decided to sow the seeds :
they postponed their decision on account

(D) Rural people are free from pollution like of dry spell.

urban people. (B) We visited Pune, in Maharashtra :
(1) Aand B (2) Band D Thiruvanan'thapuram, in Kerala : and
(3) AandD i0 (4) Cand D Bengaluru, in Karnataka.
[ (C) Some farmers decided to sow the seeds;
133. Which of the following sentences are they postponed their decision on account
grammatically correct ? of dry spell.
(A) Our decisions, if taken without a (D) We visited Pune, in Maharashtra;
pre-thought, will affect the actions. Thiruvananthapuram, in Kerala; and
(B) Our decisions, if taken without a Bengaluru, in Karnataka.

pre-thought, affects the actions.
Which of the statements have the correct

(C) Children are prone to infections, i
punctuation marks ?

isn’t it ?
(D) Children are prone to infections, aren’t (I) Aand C

they ? (2) Band C
(1) Aand B (2) Cand D (3) Aand B .
(3) Aand D (4) Band C (4) Cand D '@%@
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136. Consider the following :
(A) We informed the organizers that “we

would sponsor the whole expenditure
pertaining to the programme.”

(B) We informed the organizers, “We will
sponsor the whole programme.”

(C) “What a pleasant surprise ?” said
Keerthana.

(D) “How interesting the story is !” said a
boy.

Which of the above statements have the
correct punctuation marks ?

(1) Aand C
(3) Band C

(2) Band D
(4) Aand D

137. Which one of the following idioms means

to ‘manage to live in spite of difficulties’ ?
(1) scrape along

(2) burn your boats

(3) break fresh ground

(4) run around in circles

138. Fill in the blank with the grammatically

correct option.

Tourists always enjoy

(1) towatch the setting Sun in the Darjeeling
hills.

(2) to watching the setting sun in the
Darjeeling hills.

(3) watch the setting Sun in the Darjeeling
hills.

(4) watching the setting sun in the Darjeeling
hills.
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139. Consider the following sentences.

(A) Those who crave for reputation are not
worthy of appreciation.

(B) Longing in reputation are a common
phenomenon among people.

(C) Sincere efforts always yield good
results.

(D) I'have been try to find a solution to this
problem since two days.
Which two of the above statements are
grammatically correct ?
(1) Aand D
(3) Aand C

(2) Band C
(4) Band D

140. Which of the following are the misspelt

words ? E#E
(A) pneumonia -I‘EI%Q
(B) lingustic

(C) ingisitive

(D) curriculum

(1) Aand C

(3) Aand B

(2) Band C
(4) Band D

141. Which one of the following is the correct

meaning of the underlined word in the
sentence ?

He was arrested for abetting his fellow
employee.

(1) for leading

(2) for stopping

(3) for helping

(4) for misleading

142. Which one of the following is the misspelt

word ?

(1) platue

(2) questionnaire
(3) favouritism
(4) abroad

2
E HHH

P.T.O.



143. Consider the following :

144. Consider the following :

Phrases/Idioms
a. break through 1.

b. break with 2. enter a building by
force
c. break in 3. major achievement
d. break out 4. escape
5. giveup

Which of the phrases are correctly matched

with their meanings ?

(1) a-3;b-2;c-4;d-5
(2) a-3;b-1;c-2;d-5
(3) a-3;b-5;c-2;d-1
(4) a-3;b-2;c-4;d-1

One-word substitutes

a. belligerent 1.

b. grove 2.
c. abattoir 3.
d. exonerate 4.
CIkIE]
E HHH 5.

Which of the following phrases are rightly
matched with their meanings ?

(1) a-4 ;b-3;¢c-2;d-1
(2) a-4;b-2;c-3;d-5

(3) a-2;b-3;c-1;d4
(4) a-5;b-2;¢c-3;d-4

Meanings

start suddenly

Meanings
release someone from
a duty or obligation

aplace where animals
are butchered

a small growth of
trees

a nation or person
engaged in war
growth of a small
animal
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Phrase/Idiom

a. homogeneous 1.
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Consider the following :
Meaning

something occurring

at irregular intervals

b. palatable 2. uniform in structure or
composition

c. hibernation 3. that which can be
easily digested

d. sporadic 4. to pass summer in

146.

dormant state

5. to pass winter in a

dormant state
(1) a-4 ;b-3;¢c-2;d-1
(2) a-2;b-4;c-5;d-3
(3) a-2;b-1;c-4;d-3
(4) a-2;b-3;¢c-5;d-1

Arrange the following sentences in logical

order :

a. The trader promised that he would return

within two days with the other horses.

. Two days turned into two weeks, and
still, there was no sign of the trader and

the two horses.

c. The king loved the horse so much that

he had to have the other two as well.

He paid the trader 5000 gold coins in
[=

- A

=

advance.
(1) c,d,a,b
(2) b,d,a,c
(3) c,b,d,a
(4) b,a,d, c
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147. Arrange the following sentences in a logical | 148. Select the option which completes the

order :

a) At least, that is what we have been led

to believe.

b) This speed is a mere snail’s pace

compared with modern animals such as

sentence grammatically.

Had I known about the forthcoming
notification, I

(1) will have applied
(2) would have applied
(3) will apply

(4) applied

the cheetah.
_ 149. Select the option which completes the
¢) Among predatory dinosaurs, few sentence grammatically, EE
flesh-eaters were bigger, faster and nastier My colleague and neighbour Dl
than the “tyrant lizard” of popular (1) usually accompany me for a walk in the
imagination, the Tyrannosaurus Rex. morning daily.
(2) usually will have accompanied me for a
d) Now research suggests that, far from being walk in the morning daily.
the Ferrari of dinosaurs, Tyrannosaurus (3) usually accompanies me for a walk in
th ing daily.
Rex, whose ferocious reputation has © MOTHng catly
(4) usually had accompanied me for a walk
fascinated generations of school children, in the morning daily.
was in fact a cumbersome creature with ] ]
150. Which of the following has the correct
a usual running speed of twenty-five punctuation marks ?
kilometres an hour. (1) How wonderfully the spider is weaving
the web!
(1) d,eab (2) Samrat said, Dheeraj, “Can you
(2) b,d,c,a pronounce this word?”

(3) b,c,a,d EI5E

(4) c,d,b,a

(3) Samrat said, “Dheeraj, “Can you
pronounce this word?”

(4) This is an answer to your question ?

39



22111

SPACE FOR ROUGH WORK
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